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Exam A

QUESTION 1
Which are five key benefits of the VMware vRealize Suite cloud management platform? (Choose five.)

A. Business/ IT Alignment
B. Control
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Agility

Security

Optimize

Configuration Management
Efficiency

O@mMmoo

Correct Answer: BCEFG
Section: (none)
Explanation

Explanation/Reference:

Reference: https://www.google.com/url?

sa=t&rct=j&q=&esrc=s&source=web&cd=2&cad=rja&uact=8&ved=0ahUKEwiM1ru0se X\WAhWLYVAKHeFWDAQQFggsMAE&url=https%3A%2F%
2Fwww.vmware.com%2Fcontent%2Fdam%2Fdigitalmarketing%2Fvmware%2Fen%2Fpdf%2Fproducts%2Fvrealize-suite%
2Fvmware_vrs_datasheet.pdf&usg=A0OvVaw2tv-16pAe05 kJPF6tX5Hu

QUESTION 2
In which form does Virtual SAN store and manage data?

A. Files
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B. Disks

C. Objects

D. Blocks
Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:

Explanation:

Virtual SAN stores and manages data in the form of flexible data containers called objects. An object is a logical volume that has its data and metadata distributed
and accessed across the entire cluster.

Reference: https://docs.vmware.com/en/VMware-vSphere/5.5/com.vmware.vsphere.storage.doc/GUID-2B3B720F-0A7E-4B4B-883F-85A39C1A6C5A. . html

QUESTION 3
Which two are use cases for a VMware vSphere deployment. (Choose two.)

A company wants higher availability in their data centers.

A company wants to run all applications directly on bare metal servers.
A company wants a mixed workload of public and private cloud.

A company wants to run all workloads in the public cloud.

A company wants to run all workloads on-premises.
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Correct Answer: AE
Section: (nhone)
Explanation

Explanation/Reference:

QUESTION 4
How does VMware Cross-Cloud Architecture address incompatibility between clouds?

A. VMware Cross-Cloud Architecture does not address incompatibility between clouds.
B. By using network virtualization technology across clouds.

C. By replacing public clouds.

D. By replacing private clouds.
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Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
QUESTION 5
Which two statements are true about the VMware Horizon Suite platform? (Choose two.)

VMware Horizon Suite connects end users to their data and applications on my device.

VMware Horizon Suite connects end users to their data and applications only from a single centralized device.
VMware Horizon Suite is a secure platform for workforce mobility.

Connecting end users using Horizon Suite is user-friendly but compromises on security and control.

o0 w»

Correct Answer: AC
Section: (none)
Explanation

Explanation/Reference:
Answer: AC
The answer A is misinterpreted as “on my device” rather it should read as “on any device”

QUESTION 6
Which technology enables the Just-in-time Delivery feature of Horizon 7which ensures rapid deployment of full-featured, personalized digital workspaces?

Instant Clones
ThinApp

Blast Extreme
Smart Policies
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Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:

Explanation:

Rapidly deploy full-featured, personalized digital workspaces leveraging JMP technologies, which include Instant Clones, App Volumes and User Environment
Management

Reference https://www.vmware.com/products/horizon.html
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QUESTION 7
A company wants to implement a software-defined network solution with minimal impact to the existing environment.

What additional hardware, if any, is required when implementing VMware NSX?

A. A stateful inspection Firewall to take advantage of NSX’s built in Firewall protection
B. None. NSX is a completely non-disruptive solution.

C. Special VLAN configurations for accessing NSX.

D. Atleast two Layer 3 switches that must be converted to trunk mode.

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:

Explanation

VMware’s Software Defined Data Center (SDDC) vision leverages core data center virtualization technologies to transform data center economics and business
agility through automation and nondisruptive deployment that embraces and extends existing compute, network, and storage infrastructure investments. NSX is
the component providing the networking virtualization pillar of this vision

Reference https://www.juniper.net/assets/cn/zh/local/pdf/whitepapers/2000589-en.pdf

QUESTION 8
What are two key cloud challenges faces by customers? (Choose two.)

Availability of organizational budget

Cross-cloud management

Availability of administrative personnel

Connectivity and applying security across clouds

Choice of services offered by different cloud providers is limited.
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Correct Answer: BD
Section: (none)
Explanation

Explanation/Reference:
Reference: https://itq.nl/vmware-going-hybrid-cloud-cross-cloud-architecture/

QUESTION 9
Which feature of VMware vSphere will guarantee performance of virtual machine storage traffic during congestion?
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Virtual Volumes
Storage DRS
Storage 1/O control
VMware vSAN
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Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Reference: https://www.vmware.com/content/dam/digitalmarketing/vmware/en/pdf/techpaper/network-ioc-vsphere6-performance-evaluation-white-paper. pdf

QUESTION 10
Which feature in VMware vSphere ensures zero downtime and prevents data loss when a physical server fails?

A. vSphere Data Protection
B. High Availability

C. Fault Tolerance

D. vSphere Replication

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Reference: https://www.vmware.com/content/dam/digitalmarketing/vmware/en/pdf/whitepaper/vsphere/vmw-white-paper-vsphr-whats-new-6-0-pltfrm.pdf (p.12)
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QUESTION 11
What is VMware’s network virtualization solution for the Software Defined Data Center (SDDC)?

VMware NSX for vSphere
vSphere Opaque Network
vSphere Distributed Switch (vDS)
vSphere Standard Switch (vSS)
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Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Reference: https://www.vmware.com/solutions/software-defined-datacenter/in-depth.html

QUESTION 12
Which two components are necessary to build a VMware vSAN datastore? (Choose two.)

Just one ESXi host

At least one cache disk and one capacity disk per ESXi Host
External storage system

Certified Raid-Controller with RAID5 array

VMware compatible X86 server hardware

moowp

Correct Answer: BE
Section: (none)
Explanation

Explanation/Reference:
QUESTION 13
Which is the definition of VMware Cloud Foundation?

A. A Unified Software-Defined Data Center platform that integrates VMware compute, storage, and network virtualization for private and public clouds.
B. A non-profit organization promoting cloud computing using VMware Integrated OpenStack.
C. Ajoint venture between VMware and public cloud service providers for seamless workload movement between clouds.
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D. A partnership with Amazon to provide the Software —Defined Data Center as a service.

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Reference: https://www.vmware.com/content/dam/digitalmarketing/vmware/en/pdf/products/cloud-foundation/vmware-cloud-foundation-competitive-tco.pdf

QUESTION 14
At which layer does VMware vVSAN provide redundancy for Virtual Machine (VM) files?

A. At host storage controller (RAID) only.

B. In VMware vSAN only.

C. In VMware vSAN and virtual machine (VM) storage policies.
D. At host storage controller (RAID) and VMware vSAN.

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
https://docs.vmware.com/en/VMware-Validated-Design/4.0/com.vmware.vvd.sddc-design.doc/GUID-6F009138-C06B-4CF0-89A4-9FFECA22F 7FE.html

QUESTION 15
What are the core components of VMware Cloud Foundation?

A. VMware, vSphere, vSAN and NSX

B. Database services, storage hardware, and network switches
C. VMware vRealize Suite, Workspace One, and Horizon

D. Routers, switches, and gateway appliances

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Reference: https://www.vmware.com/content/dam/digitalmarketing/vmware/en/pdf/datasheet/products/vmware-cloud-foundation-faq. pdf (p.1)
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QUESTION 16
A system administrator needs to run a Microsoft Windows 2000 server but the hardware provider doesn’t have the drivers for this operating system.

What could the system administrator do to be able to run this server?

A. Install the operating system from a USB drive.

B. Use drivers for a newer version of the operating system/
C. Install it on vSphere Integrated Containers (VIC).

D. Install VMware vSphere and use it as a virtual machine.

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:

Reference:

https://www.vmware.com/resources/compatibility/detail.php?
deviceCategory=software&testConfig=16&productid=11014&releaseid=367&supRel=367,&deviceCategory=software&details=1&releases=367&operatingSystems
= 50&productNames=15&page=1&display_interval=10&sortColumn=Partner&sortOrder=Asc&testConfig=16

QUESTION 17
Which two benefits are delivered through VMware Software Defined Data Center (SDDC)? (Choose two.)

Complex architecture

IT driven policies
Comprehensive management
Flexible cloud delivery
Increased administrative cost

moowp

Correct Answer: BC
Section: (none)
Explanation

Explanation/Reference:
Reference: https://www.vmware.com/solutions/software-defined-datacenter.html

QUESTION 18
A supervisor wants to find a way for employees to access remote desktop applications without having to install any additional software other than a web browser.
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Which aspect of Horizon 7 would be a solution?

A.

B.
C.
D.

Horizon Client
HTML Access
vSphere Client
VMware Tools

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:

Reference: https://docs.vmware.com/en/VMware-Horizon-HTML-Access/4.6/html-access-installation/GUID-AD6BF5D5-92EA-4762-A8C7-6E30DC3B3908.html

QUESTION 19

Which three choices are key objectives or deliverables for proposing a solution? (Choose three.)

A.

B
C.
D
E

Design Requirements Workbook

. Backup Strategy

Operating Procedures

. Implementation Guide
. Validation Procedures

Correct Answer: ACD
Section: (none)
Explanation
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Explanation/Reference:

QUESTION 20
Which vSphere component provides hypervisor-based virtual machine replication and recovery?

VMware Site Recovery Manager
VMware vSphere Data Protection
VMware vSphere Replication

. VMware vSAN

Correct Answer: C
Section: (none)
Explanation

o0 ®»

Explanation/Reference:
Reference: https://www.vmware.com/products/vsphere/replication.html

QUESTION 21
Which component in VMware NSX provides L2 bridging from the logical networking space VXLAN to the physical space?

NSX virtual switch

Logical Router control VM
Logical router

NSX Edge virtual appliance

oo wp

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Reference: https://code.vmware.com/nsx-for-vsphere/nsx-components

QUESTION 22
What advantage does VMware vSphere provide to an organization?

A. Decreased business efficiency
B. Simplified data center monitoring
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C. Lower server availability
D. Increased data center efficiency

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:

QUESTION 23
Which VMware solution provides the highest availability?

A. VMware Update Manager
B. Vmware vMotion

C. VMware vCenter HA

D. VMware DRS

Correct Answer: D
Section: (hone)
Explanation

Explanation/Reference:
QUESTION 24

DRAG DROP
Match the requirements to the appropriate VMware solution.

Select and Place:
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Correct Answer:

Requirement

Manage and Secure Applications
in the cloud

Centralized management of
desktops and application

Fully Automated Datacenter

Microsegmentation

Answer Area

Solution

NSX

Horizon

Cross Cloud Architecture

SDDC
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Answer Area

Requirement

Micrasegmentation

Centralized management of
desktops and application

Manage and Secure Applications
in the cloud

Fully Automated Datacenter

Section: (nhone)
Explanation

Explanation/Reference:
QUESTION 25
What are the three vRealize Suite editions offered by VMware?

A. Standard, Advanced, Enterprise

B. Standard, Enterprise, Enterprise Plus
C. Foundation, Standard, Enterprise

D. Advanced, Enterprise, Enterprise Plus

Correct Answer: A

Solution

NSX

Horizon

Cross Cloud Architecture

SDDC
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Section: (none)
Explanation

Explanation/Reference:
Reference: https://www.vmware.com/products/vrealize-suite.html

QUESTION 26
What are two benefits of VMware vSAN? (Choose two.)

A. Integrate physical SAN
B. Uses only magnetic disks
C. Hardware-agnostic solution

https://vceplus.com/

D. Software-agnostic solution
E. Scale to future

Correct Answer: CE
Section: (none)
Explanation
Explanation/Reference:
QUESTION 27

What is a compelling reason for adopting NSX?

A. NSX can operate at all layers of the OSI model.
B. NSX can be installed directly on top of existing networking devices in the place of the original firmware.
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C. NSX programmatically creates, snapshots, deletes, and restores software-based virtual networks.
D. NSX eliminates the need for networking hardware between physical ESXi hosts.

Correct Answer: C

Section: (none)

Explanation

Explanation/Reference:

Reference: https://docs.vmware.com/en/VMware-NSX-for-vSphere/6.2/com.vmware.nsx-cross-vcenter-install.doc/GUID-10944155-28FF-46 AA-
AF567357E2F20AF4.html

QUESTION 28
An architect is tasked with working with the Line of Business to understand their requirements for monitoring. One requirement is to analyze both structured and
unstructured data and provide 360-degree visibility for the cloud infrastructure.

Which two vRealize Suite products provide this functionality. (Choose two.)

vRealize Orchestrator
vRealize Log Insight
vRealize Operations Manager
vRealize Automation
vRealize Business
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Correct Answer: BC
Section: (nhone)
Explanation

Explanation/Reference:
QUESTION 29

A company is starting a cloud deployment project. They have a requirement to provide one time and operational pricing for virtual machine provisioning by line of
business.

Which two vRealize Suite products will meet the requirements?

A. VvRealize Automation
B. vRealize Operations Manager
C. vRealize Organizer
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D. vRealize Orchestrator
E. vRealize Business

Correct Answer: AE
Section: (none)
Explanation
Explanation/Reference:

QUESTION 30
Complete the sentence by selecting the correct option.

The VMware approach to SDDC leverage logical infrastructure services that are the underlying physical hardware.

A. removed by

B. replaced with
C. integrated with
D. extracted from

Correct Answer: D
Section: (hone)
Explanation

Explanation/Reference:
Reference: https://www.vmware.com/content/dam/digitalmarketing/vmware/en/pdf/techpaper/technical-whitepaper-sddc-capabilities-itoutcomes-white-paper.pdf

QUESTION 31
Which two are primary use cases for VMware vSphere? (Choose two.)

A. Centralized Storage

B. Cloud Automation

C. Containerized Modern Apps
D. Distributed Networking

E. Virtualized Big Data

Correct Answer: CE

Section: (none)
Explanation
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Explanation/Reference:

QUESTION 32

What is the role of the NSX Controller?

A. It provides network edge security and gateway services to isolate a virtualized network.

B. Itis an advanced distributed sate management system that controls virtual networks and overlay transport tunnels.

C. ltis centralized network management component of NSX.

D. Itis software that operates in server hypervisors to form a software abstraction layer between servers and the physical network.

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Reference: https://pubs.vmware.com/NSX-61/topic/com.vmware.nsx.install.doc/GUID-4EOFEE83-CF2C-45E0-BOE6-177161C3D67C.html
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